EARAROBREBRT —5 XN—ZXBISH—F

202318158 (B) 1@94LLI6H

E=n# G3 o5%3m @B (5r) BlE

EEE=CIEE

20000 R

[AE%] 17 :40,000,000 § ~ 235 :16,000,000 .~ 37 :10,000,000 @ . 4 37&:6,000,000 F 5 3&:4,000,000 F

B RS RS R HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
\ ~ s 3 | HLRSE 2:02.2 5-5-5-5 | 34.5]102.2| 2 162 | FEEX EH)
1 4| VY=IVFUIVR 5.0 ) “2) (8) HBL—2A—2
R:FIYYTSwT B:RF7 #HBEI77—LA
w < allfafeA : -5-5- ZHAE (FEFR)
) 3| FAHVwFTY [B] 4 3 =l (22012/26; 5-5-5-5 | 35.0| 98.0 | 9 (4_1133) %5;
RiARASKR=Z—9 B:IWHAST7T #HBI7—LA
SR LR 3 | C.bX=)b 2:02.8 5-7-7-7 |34.9] 95.9 | 1 480 |BERMT (FR)
3177 vIURIVrY 56.0 (1 1/4) (-q) |PTEHEE
R:IvPRIVIA BNERRTVY— J—YYT7—L
'+ % 3 | HamE 2:02.9 8-7-7-7 |35.0] 94.9 | 7 | 520 |PMilth &R
41111 Yo% —F 5.0 (172) (+10) | DOBEEEA
RiFRF B:TFATASEVR =e)
< . —n T. NvaO :03. -3-3- . X ENEE (FR)
5|55 | VI r—F1—0 33 %0 va 2(30/34)0 4-3-3-3 [35.6| 93.6 | 5 (ﬁi) iy
RVILN=ZATF—bk B:I7FF14—2R HHE EE
N apa FlFEXR : -2-2- HehEl GEi8)
6lglg|vritvns— 3 3 F.o 2(703t§) 2-2-2-2 [35.8| 91.6 | 3 528)2 L
RiRSSXYT BAXEUTILSAT #HBIT7—LA
3 YR 4 3 | DHE 2:03.1 3-3-3-3 [35.8| 9.9 | 4 474 | BFIE— ()
] 2| Y==K 56.0 @) (1) | IR
RE=F/)NhO=)b B:XU—D TH— I URUKIS
P=— s 3 | ISEfER 2:03.3 1-1-1-1 [36.5| 88.4 | 6 | 460 |AFIEM ()
8/8/8 J5-wvw bk .0 (1 1/4) (+8) #B) ZIWI7—L
RS IINS—R BAYTF«4D9F =g ®B
S N DNt % 3 | SHE 2:03.4 8-9-9-9 [35.3| 89.7 | 8 474 | INEFREB ()
EH 6 | VILIN=AR—=F 56.0 (1/2) @ |Ninomiyayv/t¥L—y>7
R:VIVN—RF—k B:HYh/NU—Z TITSTF—L
[ BN
Eh' 47.6-35.4
NOYI AL | 12.9-11.6-13.1-12.0-12.6-12.4-12.2-12.2-11.7-11.5
@ 11— —BBIEfI
13—7+— 8,9,2,5(3,4,7) (1,6)
20—F— 8-9(2,5) 3,4) (1,7)6
Jal=zr= 8-9(2,5) 3,4) (1,7)6
40— — (8,9) (2,5) 3.4) (1,7)6
o ILRE
B B 4 270 JA R 3-4 4,840M & 3-4 12,170 3EE 3-4-7 11,010M4
g B 4 140 4-7 220/ 5 & 3-4 19,570 3EH 4-3-7 93,740M
3 1,090 3-7 3,870H =51 4-3 23,840
7 130

ABIC OV TRUTEREERRODDZE. THRIIZEL.



